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MATHS

BOOKS - VGS MATHS (TELUGU)

aghes (60‘2&)

1.oa(sin B — sinC) = 0 &9 SPD0c.

o Watch Video Solution

2.0 = /3 + 120, ZB = 30°, ZC = 45", 20003 ¢  308)06%.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ox1hQuk7ydlC
https://dl.doubtnut.com/l/_vIwFNcRPzgJ0

3. 2=2 20, b=3 20N, c=4 DO, L90NVH, cos A §<6)§‘2}0c39.

o Watch Video Solution

4. 3=26 20, b=30 20, cos C=63/65 20, e90NB, € O §<6>§‘2,oc%.

o Watch Video Solution

5. 8860 1: 51 6 QS 60D, T 202P0 QA 300k

o Watch Video Solution

B tan B
~ tan

6.a> +b -/ +a’®— b 29 ALFN0B0%.

o Watch Video Solution



https://dl.doubtnut.com/l/_4fAGUAjZFIqf
https://dl.doubtnut.com/l/_MB7tjzLhOBI5
https://dl.doubtnut.com/l/_zm4qz4ryFaDf
https://dl.doubtnut.com/l/_3FaGN7Pat50Z

7. (b+c)cos A+ (c+ a)cosB+ (a+b)cosC=a+b+c (O]

QBTN 0.

o Watch Video Solution

8.(b— acos C)sin A = acos A sin C 9 QBP00S50¢.

o Watch Video Solution

9. 25 B2z ghren 4,5 ), &8 2HPe aSJc,S?S T30 60° 00D, T°

ST 308)06.

o Watch Video Solution

C
10. b cos? [?] + ccos? lg] = 5 093 PN,

° Watch Video Solution



https://dl.doubtnut.com/l/_BxAmXkdbpE8d
https://dl.doubtnut.com/l/_WpAQEmhTOqMj
https://dl.doubtnut.com/l/_xNswudCobYWv
https://dl.doubtnut.com/l/_wjpMOYoDi7BX
https://dl.doubtnut.com/l/_QTu5zsAkZuXy

M.a/cos A=b /cos B =c/ cos C®mad AABC 020 H2H20

SN0,

° Watch Video Solution

12.a cos A+ b cos B + c cos C = 4R sin A sin B sin C 89Q Q8P20N06.

° Watch Video Solution

A C
cos cos B 8T _ a’® + b + 2/ 2abc 9 SPH0B.

a b c

° Watch Video Solution

C A
14. a sin® [?] + csin® l?] s, a,b,c @é‘éﬁééd)o& )

° Watch Video Solution



https://dl.doubtnut.com/l/_QTu5zsAkZuXy
https://dl.doubtnut.com/l/_bIuwv4puTNno
https://dl.doubtnut.com/l/_KbFnaJ4zVnhz
https://dl.doubtnut.com/l/_8dzJLA0jaFRb

15.b + c =3a @00 cot B /2 cot C/2 LI 3&0%)0.

o Watch Video Solution

in(B — C
16.AABC S — ¢ Ja? = S2E—C) 0 smin0s.
sin(B + C)

° Watch Video Solution

cotA cotB cotC s? 5
17. s~ T —5— 3 —K@&&dro)oaso&g.

o Watch Video Solution

18.

cot A n cot B . cot C
2 2 2

29 ABTDOD0G.

)/cotA+cotB+cotC': (a+b+¢)?/a® +

° Watch Video Solution



https://dl.doubtnut.com/l/_EUEqOFla0Di8
https://dl.doubtnut.com/l/_I6m1CzEHKVef
https://dl.doubtnut.com/l/_9ZdzyD080W5U
https://dl.doubtnut.com/l/_Mr1WoP0Cm2q9

19.0(a + b)tan(A — B/2) = 009Q <SP0 0¢.

o Watch Video Solution

cot A tan A
5 +b+c/b—c 5

20. b—c/b+c = 2cosec(B — C)®Q

S°H0C.

° Watch Video Solution

21.sinf = a /b + c @00 cos § = (2\/Ec/b+ c)cos A /2 9 SPDH0G.

° Watch Video Solution

A
O 9 AEDOS0B.

22.a = (b + c)cos § @00 sinf = 2v/bc /b + ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_3wuF2Q8jtjoP
https://dl.doubtnut.com/l/_9R9kd5eDSWXl
https://dl.doubtnut.com/l/_FlIswayJS74v
https://dl.doubtnut.com/l/_w1LtyMVrV620

23. 990 $290 0 H a cos = beos(c + 0) + ccos(B — ) 9 SPD0d.

° Watch Video Solution

24. AABC &9 Seren AP. & &0t b:c = 1/3: /2 @008 A = 75° e

S°H0CS.

° Watch Video Solution

inC
25. @’ + 8 /a® — ¥ = Smf’r—_B), wond AABC H&bgpsv Sor
002589 Q22N AETD0H0E.

° Watch Video Solution

3
26. cos A + cos B + cos C =

5 eo0d AABC 0250 2020

SN0,

° Watch Video Solution



https://dl.doubtnut.com/l/_9OvXn9nLrIed
https://dl.doubtnut.com/l/_m9XulDl2BvLq
https://dl.doubtnut.com/l/_Va5qET3J9XVz
https://dl.doubtnut.com/l/_KA3BF5vfh9lQ

27. cos? A+ cos’ B+ cos’C =1 eowd AABCoo2%H 82020

SN0,

° Watch Video Solution

28.a% + b* + ¢ = 8R? @00s A ABC®02% 92025500 SrH0s.

° Watch Video Solution

29. cot A /2, cot B/2, cot C/2 en AP. &5 08 ab,c O AP. & &0eraHA

QBTN 0C.

° Watch Video Solution

. 2 . 2 . 2
sin“4A sin“B sin“C

30. 2 T3 ' 3

en HP. & &08) ab,c ©D HP. & &0otTrod



https://dl.doubtnut.com/l/_KA3BF5vfh9lQ
https://dl.doubtnut.com/l/_Sz7ANJbUUgW9
https://dl.doubtnut.com/l/_iRy9AtMzgRMi
https://dl.doubtnut.com/l/_6vp9PpJnNzka
https://dl.doubtnut.com/l/_WQ8rX1rwkSgr

I & Watch Video Solution ]

31.C = 90° @awd, (a® + b* /a® — b*)sin(A — B) = 1 & QEFD0H506.

° Watch Video Solution

32. #8900 28 H0Z0 AB W10 B Q0 DS, g0 A Sghei
GTYOW. &8 S D NS C oI Doy Dok A €39 Tea0 600 e
o0, BC B8P DM 0TS edorr CD=7 P o D €93
AlelavN)) ARV JIEY €93)Cs 00 A 6“938‘7 €50 45° ) DM 0. €

Q020 e D05?

° Watch Video Solution

cot A
2

33.0711

s HOH IEDES0E.

° Watch Video Solution



https://dl.doubtnut.com/l/_WQ8rX1rwkSgr
https://dl.doubtnut.com/l/_PDVO7J0CRS6b
https://dl.doubtnut.com/l/_rGbRd6vtkyqe
https://dl.doubtnut.com/l/_xJTN8l8egIVc
https://dl.doubtnut.com/l/_v7NjIicrxaXz

34.0acot A = 2(R + ) 09 PDOCk.

° Watch Video Solution

35.71 + 72 + r3 — r = 4R €9 QBPD0N0C.

° Watch Video Solution

36.7 + 11 + 79 — 73 = 4R cos C 9 QBID0N0G.

° Watch Video Solution

37.7r + 171 + 7y = 7309003, ZC = 90° 9 I*H0S.

° Watch Video Solution

38.4(r1r2 + ror3 +1r3r1) = (a + b+ c)2 9 QUIPDO0H0C%.

| o WMl L \ o dan C Al ikl n


https://dl.doubtnut.com/l/_v7NjIicrxaXz
https://dl.doubtnut.com/l/_0wL8Jga8pHVs
https://dl.doubtnut.com/l/_a99rU5EZZ9CQ
https://dl.doubtnut.com/l/_YxzaAOkMHfIy
https://dl.doubtnut.com/l/_L15LVaeOq6yY

L —rvvatlil VIUCU JUViuuivil

o Watch Video Solution

40.7(r1 +r2 +73) = ab+ bec + ca — 52 9 ABFD0S05.

o Watch Video Solution

41.or1 /(s —b)(s —c) = % 9 AUF0H0Ck.

o Watch Video Solution

tanC cot C
42.(r1 + 72) =(r3—7) 5

5 = ¢ 9 ALFN0B0%.

° Watch Video Solution



https://dl.doubtnut.com/l/_L15LVaeOq6yY
https://dl.doubtnut.com/l/_QBWmNvDMh3AB
https://dl.doubtnut.com/l/_3F2ndsOvBH7c
https://dl.doubtnut.com/l/_8s6YZ6gwRe0j
https://dl.doubtnut.com/l/_zipvQeoElbxO

;cot? A cot? B cot? C
2 2 2

9 ABPDOB0C.

43.r17r9r3 =T

° Watch Video Solution

44.cos A+ cos B +cos C=1+r/R & SPH0G.

° Watch Video Solution

45.cos> A/2 + cos> B/2 + cos>C /2 = 2+ 1 /2R &9 SPH0ck.

° Watch Video Solution

46.sin* A /2 +sin? B/2 +sin’C /2 = 1 — r /2R 9Q 3D 0.

° Watch Video Solution

47.a0 = 13 + r34/77r1 /7273 O BPH0b.


https://dl.doubtnut.com/l/_dBWB1aIHxvKd
https://dl.doubtnut.com/l/_qGGZlOFR7NYb
https://dl.doubtnut.com/l/_IOZeZCVKbszx
https://dl.doubtnut.com/l/_IfD90z3MbUAD
https://dl.doubtnut.com/l/_NayC7prYOAkP

° Watch Video Solution

48. A = 7'17'2\/4R — 7 — Ty /T + Ty 9 APDOG.

° Watch Video Solution

49. A B, C régt’@ 0% el gHereDd MRS Gd)den Py, Py, P; ©00nd

1 1 1 1
— 4+ — 4+ — = 9 IPHOoG.
P1 + P2 + P3 T

° Watch Video Solution

50. A, B, C régt’@ 0% el gHereDd MRS Gd)den Py, Py, P; 00nd

1 1 1 1
— 4 — — — = —Q APNOG.
P * P, P r3

° Watch Video Solution



https://dl.doubtnut.com/l/_NayC7prYOAkP
https://dl.doubtnut.com/l/_RTBbNdLLH4of
https://dl.doubtnut.com/l/_4r4NJJnDHfF7
https://dl.doubtnut.com/l/_NlAaHzJGOUbQ

51.A B, C rége) A0 A0eE3 2HeredH DS &d)en P, Py, Py 90003

Py, Py, Py = (abc)® /8R® = 8(A)? / abcedd <06,

° Watch Video Solution

5. In a AABC if a=13b=14,c=15

65 21

8 = :7,7’2:12,7’3:14.

then ST

° Watch Video Solution

53.7y = 2,79 = 3,73 = 6,7 = 1€900e3 a =3, b= 4, =5 9 AEPNON0Ck.

° Watch Video Solution

3
54. AABC &’ a=3,b =4 sin A = 1 900038 B %‘w@ §<63‘§‘2}oc39.

° Watch Video Solution



https://dl.doubtnut.com/l/_hPxuZJEuEGEe
https://dl.doubtnut.com/l/_mfNRL4bCGWb7
https://dl.doubtnut.com/l/_HpCMWhmJwrhx
https://dl.doubtnut.com/l/_xzcqxlGufzCi
https://dl.doubtnut.com/l/_RUcX5xMA6CpI

55. 208 32h20 220 Peen 34,5 €903 €9 B2h2 DB ;3"5{09@

§<6)§‘2}0c39.

o Watch Video Solution

56. a=6, b=5, c=9 90003, A S“W&’g §<63§&o&9.

o Watch Video Solution

57.AABC & o(b + c)cos A = 25 €9 SPH0G .

o Watch Video Solution

58. 922 4HaPeD 13, 14, 15 Y0NS DOSIT® TR S08)od.

o Watch Video Solution



https://dl.doubtnut.com/l/_RUcX5xMA6CpI
https://dl.doubtnut.com/l/_mAqnv2JMw2Yv
https://dl.doubtnut.com/l/_QAksYdWFcu9c
https://dl.doubtnut.com/l/_0kqqJyOygEoe

59. AABC & (a+b+c) ,(b+c-a)=3bc €900 A Q §<6)‘§‘&oc‘§.

o Watch Video Solution

60. a=4, b=5, c=7 9023 cos B/2 §c60§‘250&.

o Watch Video Solution

61. AABC &' bcos? C /2 + ccos’ B/ 2 §<¥1)’§20(3;

o Watch Video Solution

5 2
62. tan A / 2, = & tan C/2 = 5 @903 a, b, ¢ ® g DGR

AT°B0N06.
(&)

o Watch Video Solution



https://dl.doubtnut.com/l/_ectU64pynZkh
https://dl.doubtnut.com/l/_8NYZ2DXdPXHE
https://dl.doubtnut.com/l/_Bd4GzKLcGQQ9
https://dl.doubtnut.com/l/_ED4OH6UBiRaZ

63.cot A/2 = b+ c/a @0, B Srg) 3c0%)0k.

o Watch Video Solution

64.tan(C — A /2) = kcot B /2 ©owd , k $ea°q) 3:0%)06.

o Watch Video Solution

in(B - C
65. AABC & — & fa? = S0 -

~ sin(B+C)

° Watch Video Solution

66.a” cot A + b cot B + c? cot C = abc/ R €90 S°H0G.

° Watch Video Solution

2 : 2
67.(b— 0?5 A L (h— oS A | 2 e sr06.



https://dl.doubtnut.com/l/_kxar2d5DC4Hg
https://dl.doubtnut.com/l/_z86es1dRJAmR
https://dl.doubtnut.com/l/_y8XjfZeayLOU
https://dl.doubtnut.com/l/_mmtkZyAj1YxC
https://dl.doubtnut.com/l/_tecmuFvx5xP4

° Watch Video Solution

68.a(bcos C — ccos B) = b* — ¢ e9Q S3°00c.

° Watch Video Solution

69.c-b cos A/ b -ccos A=cos B/ cos C 9 PD0c.

° Watch Video Solution

70. AABC $'1/a+c+1/b+c=3/a+b+c ®ons, C = 60° ©d

°H0CS.

° Watch Video Solution

71. a = (b—c)secf e0ond tanf = 24/bc/b — csin A /2 @9 Harsd

0D



https://dl.doubtnut.com/l/_tecmuFvx5xP4
https://dl.doubtnut.com/l/_ifBlE5otZGKP
https://dl.doubtnut.com/l/_7iMiCG6hZzY6
https://dl.doubtnut.com/l/_suaNXLeFw2lF
https://dl.doubtnut.com/l/_dsNJOrzCtb13

| ° Watch Video Solution

72. AABC & (a+b+c)(tanA/2+tanB/2) = 2ccotC/2 e

D 0CS.

° Watch Video Solution

73.5%sin2C + 2 sin2B = 2bcsin A 099 SPH0G.

° Watch Video Solution

74.cot A + cot B + cot C = a® + b* + ¢* /4A 9] Hrazrsd) SoHod.

° Watch Video Solution

A
75.acos> A/2 4+ bcos’ B/2 + ccos’C /2 = s + E@&)tﬁ)‘g}O&;.

° Watch Video Solution



https://dl.doubtnut.com/l/_dsNJOrzCtb13
https://dl.doubtnut.com/l/_nBjRDVYE8yhi
https://dl.doubtnut.com/l/_tjGvh3G1Ec9T
https://dl.doubtnut.com/l/_UmkoY5lTumRn
https://dl.doubtnut.com/l/_eOQ18cYboGon

76. AABC & a cos A =b cos B e0wd 82020 DT T 000

H2H2NQ Hazsd) BODOC.

° Watch Video Solution

77.cot A/2 : cotB/2:cotC/2=3:5:7@00Fa:b:c=6:5:4 e

D 0CS.

° Watch Video Solution

78. a® cos(B — C) + b cos(C — A) + ¢ cos(A — B) = 3abc @ Hazsd)

00

° Watch Video Solution



https://dl.doubtnut.com/l/_eOQ18cYboGon
https://dl.doubtnut.com/l/_qO5l7mNtIa7u
https://dl.doubtnut.com/l/_O1TrYF6u9GXN
https://dl.doubtnut.com/l/_PKVXAcLjhY9E

79. 28 SOS 258 JoDS A, B 93 30k BED o, SO’ C &S Docdy
A0S A, B e SHHM 250 &, 300 . SrEoes’ )00, C 9GS Tes0 45°

e900ad &9 BY Y ErTe) 300k (12 = 1.414).

° Watch Video Solution

1 1 1 1
80.AABC&S — + — + — = — o $r2zd) I0H0GR.

1 T2 T3

° Watch Video Solution

817717975 = (A)? 9 SPD0sG.

° Watch Video Solution

82. D020 §2H208 1 / R ensdisd 3808)06.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZkHTnjW1TMyY
https://dl.doubtnut.com/l/_SKKr355lW1Re
https://dl.doubtnut.com/l/_RKkt2bPa3uP5
https://dl.doubtnut.com/l/_HDgrtPSg08Kp
https://dl.doubtnut.com/l/_M9f8CcYY31dV

83. AABC aﬁaeé%)g'e)é 12 204D, B €905 wpgo 10060, 092))¢6 Bahes

ST 308)06.

o Watch Video Solution

84.771 = (s — b)(s — c) &9 APDOC.

o Watch Video Solution

85.acos A+ b cosB+ccosC/atb+cdR,r ém@é‘éﬁédrf)o&.

o Watch Video Solution

86. AABC lo A=6 5. 208. , 5=1.5 204D, €903 r & %0k

o Watch Video Solution



https://dl.doubtnut.com/l/_M9f8CcYY31dV
https://dl.doubtnut.com/l/_Nvclg0L6LolR
https://dl.doubtnut.com/l/_83Ew4CRhLeb2
https://dl.doubtnut.com/l/_ONW49u7IVBR3

cot A

87.rr1 = A 093 3D,

° Watch Video Solution

88. a=13, b=14, c=15 €900 r; o0 §<§)§‘&oé§.

° Watch Video Solution

89.rry = r173 900G B §c§)§‘2}0&g.

° Watch Video Solution

90. AABC & zharen a, b, ¢ 9033} 6506erQS 11, ra, r3sr0ee)s 3¢ &

SOOI S3F , DTE) A0 SPH0G.

° Watch Video Solution



https://dl.doubtnut.com/l/_H0rN4ip7glu0
https://dl.doubtnut.com/l/_K6dOULpgyrzM
https://dl.doubtnut.com/l/_SE1iDL2Hcibd
https://dl.doubtnut.com/l/_2K7STnAcsLi0

91. A = 90° 90203, 2 (r+R) = b+c €9 SPHOG.

o Watch Video Solution

92. (T2 - 7’1)(7’3 — 7’1) = 2T27’3 9901)6, A= 900 €9) rﬁ)"’\;DOC‘})

o Watch Video Solution

ro + 7T
93.7; 2~ 3 = a 9 K23 BONOG.
\/T1Te + ToT3 + 7371

° Watch Video Solution

94. +

ﬁm| —

1

+ = =a’ + b+ /(A) o SrHod.
;
3

»—nﬁm|’_‘
=3
wl\:|’_'

° Watch Video Solution

95.0(r + r1)tan(B — C'/2) = 0 &9 Hzzed) F0HOG.


https://dl.doubtnut.com/l/_O6EREFuUnGyg
https://dl.doubtnut.com/l/_si93Hqx1w49u
https://dl.doubtnut.com/l/_JBuotgI8nuij
https://dl.doubtnut.com/l/_iXIwtjlCYBAu
https://dl.doubtnut.com/l/_7deGroDgL1EG

° Watch Video Solution

1
96.r1/bc—|—'r'2/ca+'r3/ab: ?—1/2Re:9c3rﬁ)'°\<;30(?9

° Watch Video Solution

97.7: R:71 = 2:5: 12 900033 €9 §2H2065 A ©02520:00 Harsd) SoHocd.

° Watch Video Solution

98.7 + r3 + 11 — 9 = 4R cos B 9 S°H0C.

° Watch Video Solution

99. 4, A;, Ay, A3 &0 SHIM™ 822 €90¢98ad¢)e9 , ar:a;g )89 gweygoa))é
1 1 1

1
+ + + 9D H2XY) JONOG.
VA, VA, VA3 VA

° Watch Video Solution



https://dl.doubtnut.com/l/_7deGroDgL1EG
https://dl.doubtnut.com/l/_RO9vppzV0Iol
https://dl.doubtnut.com/l/_Ta4U4dq8TL4Z
https://dl.doubtnut.com/l/_H1P3I3PxhMY2
https://dl.doubtnut.com/l/_kgcW4aVIKTTG

100. AABC & AD, BE , CF e» AB C régb@ 0D AE3 ZHare®H ADS

©0200NS 1/AD+1/BE+1CF =1/r @ SPH06G.

o Watch Video Solution

101. AABC & AD, BE , CF e» AB C régoo 0D A3 2Here®H AS

©02r0BAD. BE. CF = (abc)” /8R® 98 SH08.

o Watch Video Solution

102. AABC &'r1 = 8,15 = 12,73 = 24 29003 a, b, c 0D 3&0%)06%.

o Watch Video Solution

ab —rir bc — rar ca — r3r
103. Show that 172 _ 273 371

T3 T1 T2

o Watch Video Solution



https://dl.doubtnut.com/l/_kgcW4aVIKTTG
https://dl.doubtnut.com/l/_jWrjb5pPFT9v
https://dl.doubtnut.com/l/_gSkmr1ElyRwX
https://dl.doubtnut.com/l/_NTCVt5NbWrbB
https://dl.doubtnut.com/l/_pE85BfHUJB0l



https://dl.doubtnut.com/l/_pE85BfHUJB0l

